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S1IUMIANUIN

M= 37344 kg-m /m
d= 508 cm,

I= T68em < 12em OK.

di3d= 9.4 cm.

63



/~ DBI2@ 0.60 m. i3y

.«/f w ¥ ¥
/ ~—— DB12@ 030 m.ASIAAUABIN Wiy
0‘4‘;‘; | E:: :: L] :. [ ] ___P'f. [ ] L] -
| 0.50 m. s
0.63m | 2.50 m
S1
Short Span I
DB12@ 0.60 m. iaf3ufiiery
DBI12@ 0.30 m.ATIAduADI iy
' [ e & a 1
012 B e e T e ._E]
125 m | 500 m

S1
Long Span
Drawing : Not to Seale RC RIT.
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* TIOTEA T
* BEAUIAY A.T.0*
Slab Mo, 52
defmualuniaeenuuy ; = 210 kse, fs= 1600 ksc.
LI = 150 kem . FL= 40 ksm funfi= 5m.
o= 5 m.
Db Constant
n=_Es Fo = Z00M0007 1521 0% sqrifc’y =10
k= 1A 1+ fsm*fc) = 347 =ikl = 584
= A45* sgrifc’l= 94.5 ksc.
R = hE*ic*j*k = [4.49 kac.

S/L= 1 =05 seAnnunsmwihifimdm
e nneg i CASE 3 e lideiiieg 2
DL = 280 L.

LL =150 ksm

FL = 40 karw

2z 1 w'= 478 ks

2 o A RS T e Ty
M =cws"2 | As= M/ (f5j.d) ¥
21 Tianimaudideiie s
M = 3R5.55 kp-m /m
d= 636 cm,
L= B8 em. = 1Zom OK.
d¥3d= 9 2em,
As= 44 cm*2 im** |4 DB 12 @ 25 o
2.2 TnwudnuAd Linedles
M= Z0ETS kg-m.fm
As= 225 em"2 /m. ** 19 DB 12 @ 30 om.
2.3 Tunuduan
M= 44215 ke-m/m
As= 333 em2im. ** 14 DB 12 @ 30 em.



3. DERLUMBRTTLIA T
3.1 Tusnsinud msecies

bl = 54555 bgrm i
d= B2 mm.

A= S5 o2 fm ** 18 DB 12 g 20 em
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DEI2@ 025 m.aTuluserheszvianedn
— DEI2@ 0.30 m, asaadunelinduiiudu
| RE12 @ 0.30 m.

0.02— — e N T PR i M & N 2 = ___|n.[2 m.
L' 1.00 m. 1.00 m.
L :
1.25 m. I 5.00.m. 1.25 m.
szazilalaluemdnludenios 044 m 32 AU
1
" i = n ¥ " W
DE1Zd&E 0.30 m. Lﬂiﬂiﬂ‘]ﬂ\!]‘iﬂ‘iﬁﬁ‘l‘l%ﬂﬂ”‘l
s g 3
DBI12@ 025 m. AssnduABiAuhndy
I DE12 @ 020 m.
] ] '] £l t - r = = = B
— It
L" e e |0.12m.
1.00 m, 1.00 m. j
¥ 1.00 m. | 0% —
.25 n-‘l 200 m. 1.25 m.
Covering = 0.02 m 32 ATRET

seteflalmolun i Bidenlos 0.44m.  Drawing: Notio Seale  RCRIT.
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* FIONTTATH I

* BBNULILTAN A.A.A
Slab MNa. 53
dafmualunseenm : = 210 kse, 5= 1600 kse.
LL~= 150 ksm.,FL= 40ksm funta= 3.5m,
o= 3.5m
Deesizn Constant

p-=-Es Ec = 204000 152 10*squifc’) = B

b 10 1+ fa®fE) = 347 L =tekd = &84

fio = A5% sqr (i) = 94,5 ks

R =05%Fc*j*k = 1449 ksc

S/ L= 1 =05 Szfmsnesnnmihuimams
Tfuﬁﬁmﬁammuaq"lu CASE 2 #uhiweiles 1 A
1. D= 2E8 ksm.

LL = 15 kam,

EL = ddy ksm.

=18 w~ 478 ksm.

2 panuL s Tmadni
M =cwg®2 | As= M/ (f.j.d)
2 1 TnwmAaufideies
3 = 240.08 kp-m /m
d= 40T ¢m,
t= 64T em < 12 cm. (K
4934 = 9.4 cm,
Az = 18] con™? fm *+ 19 DB 2@ 30 em.
2.2 Tnudowdm Diredlea
M= 12297 kg-m /m
As= 92cm*2 /m. ** 19 DB 12 i@ 30 em.
2.3 Tumudun
M= 181,52 kg-m /m
As= 137 en2im. ** 19 DB 12 @ 30 em



3, pEnIM AN
1.1 Tundaudwdeiiles
M= 240.08 kg-m /m
d= 82 em
As= 207 co2m ** 1§ DB 12 @ 30 em.
3.2 Tnumdaudn hineides
M=122.97 kg'm/m
Ag = 1,06 con2 e % 14 DB 17 @ 0.com.
3.3 Tuamsuan
M= 181.52 kg-m /'m
As= 1.57 em2/m. ** 1% DB 12 @ 30 cm
4. ATV TIN NREY
PEE T -y i
wnTnaanmmafieil, Ve = 55767 ke
v= 59 ksc. =vo= 4.2 kse. QK

4.2 'I"I'H'EI'I'I.IH']'I

UinaATuNIad e, VL = 557.67 ke

v= 59 kec.<vo= 42°kse. OK
5. AFNEBUMIMILT BRI
T
=534 ksc. <udllow = 35 kse. OK
52NWHAIIM

=534 ksc. < u Allow = 35 kse QFK.

RC_RIT.
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= T T
= HEFILLIH TS
Beam Mo, GBI
TWATaIRT T Ingandia W +hMmax = 66012 kg-m
Fadmurlunwennuuy: = 210kse, fy = 4000 ksc.
Dhesipn Comskanl
= Es/Ec= 300N | 5210 5grifc) = %
k=14 1+ fen®iel= 347  j=I-kid = B84
fo= d3* sgqrifc’)= 4.3 kue,
Fo= 05 %%k = 1449 ks,
AR WA YR 20 x 50om.
de= 43,15 em, = 46 cm.
M = R*b*d*d = 539585 kg-m. 3
Anl = Bwis®®d = B B4 A3 w
. BRPILIAM NN TE + Mmax
M - Bl = 120535 kp-in
* SEATL FUERNIU + Mmax riW Doubly Reinforced Section
.1 BerankAnE I U saR
Aa2 = {Mmax - Mwl/ [E%d-d'p= |95 A5.91L
As= Asl 4 As2 = 108 A5,
*» 1§ z-DB20+ 2-DBI0 FAZunI:
1.2 mBnuTruAnee T Ui LT aia ¢ A )
ficl = {ka-d"y=fe / kd = 4547 kse,
T2= [+himax = Mwh d=d= 312671 kg
As" = T2/ [3n-1Hc] = 241 5.8,
- ¥ >-pB
Check ; 2nficl= 117842 = f5 QK.
2w REEUneT Al (Shering Stressh
Venan = 3308367 kg, w= kg
Vi = Ym - (w*dl= 530837 kp.
Ve Wl bde 515 ks ve= 42 ke
anaHmranmnenfunsadeud udiu BanlE | rE &
= ARl W
W= (v-wchhd = 168161 kg
5= 215%em 9= 20 an

OK.
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* THINYIA T 0 ¥
* BANEAAT ALTA*
Beam No. GB2
2NN TE AT TAsamdi e TR <Mmax = 2755.24 kg-m.
dnfmualunssene : = 210 kse, fy = 4000 kse.
Dhesigzn Constan
n= Es/Ec= 2040000 15210%5qr{i) = 9
k=014 1+ fan*ic)= 347  j=143 = gf8d
fo= 45" sgrifc) = 4.5 kac,
R = (LR = 14,49 ksc.
DWUAME AR YR 20 x 30 cm
d= 23.15ecm ,d'= 446 om.
Mw = R*b*d*d = 15531 kp-en.
sl = MwiTa*f*d = 4.74 AT
I SerLLAnE T + Mmax
bimpax - Mw = 120214 beg-m
* AU TLBATILIL + Mmax i Doubly Reinforced Seetion
11 sansuumineiuiuesis
Ax2 = (M - Mw )V (F*{d-d1] = 4,08 A7.90
A= Asl + A2 = £ 70 AT,
= 14 2-DBR20+ Z-DB20 ¥R 20
1.2 sanguumAneSuiuusdia As)
fiel = Gl fic /e = 4039 ksc.
T2 = {+ddman - hiw) fd-d') = $480.52 kg,
AS = T2/ (21l = 944 7530,
W 2-pB2+ 2-DB20 ¥A2una
Check : Znfel = 72695 < & OK.
2. AT IEEUN U IouSnl@ay (Shearing Stress)
Vmax = 3145845 kg, w= 1799.34 kg/m
Wil = Wmax - (w*dl = 27323 kg
v Vd/bd= 59 kse. = ve= 4.2 ke
aua l4nrBmlenfuus adaud i Benld 1 kB 6
S = Avrid W
Wio=iv - velbd = 186,55 kg
= 11 58em 1= 10 cm.



3, ATIIEELM 0T 0N (Bond Stress)

u=W{HM:|uII¥'IIEE'IJ".I-I *i*dp= 816 ksc. <o Allow = 234 kse. QK R, RIT.
.20 m.
. L - DB
. * o DRI
k U -RB6
§9 @010 m.
. o 2-DB 2
) - - DR
0.03 rrl.‘
T . F
LW
AR

Drawing : Not to Scale
RC RIT,
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S I TN *
* BpEFICIINTY e
Beam Mo, GE3
awmmis e Insaede T8 +Mmax = 8137.96 kgm,
Fofimualumseenuan : = 200kse, fiy = H00 kse.
Dhegign Constan
n= B o= H0400000 1 521 0#5qri ) = @
k=1801+ Gntfe)= 347 j=1t= 854
fo= 5% sqr (E'F = .3 ke,
B=0.3%0" %k = 1449 ke
IR UM 20 % 50 em
d= 4265em ,d'= 485 om
Mw = R*b*d*d = 327153 kg-m.
As] = Mwif*j*d = 8.74 AL,
I nBAMPTANETY + M
Mo = Mw = 2866.43 kg-m.
* QA T IMBANULY + Mmax 15 Daubly Reinforced Sasfion
1.1 penunewanisiuiuns s
AsT = (M « M) (4007 = 4.74 AT 3.
A= Ax] + As? = | 148 WE.30,
w1 2-DB25+ 2-DB25 TR2u
|2 aanuues B unsada § s
fel= (hd-d)*feikd = 6353 kse,
T2 = (HMmax - Mwh Nidd') = 758315 kg,
A =T (2= il = 70T @39
= 1§ 2.0p08
Check : Infcl = 11438 < QK.
2, ATHITBUMUIMEAEY (Shearing Siress)
Vitsix = 6623335 kg, w= 1767.67 kg/m
Vd= Vmax-(w*d)= SH6943 kg
ve Vil bd= 65 kse mve= 42 ks
deeldmmimlnnnfinsadeudnofiu Genlé e 6
8= Avrfurd oy
Ve v e velbd = 22847 kg,
S = 1689cm. W= 15 em



3. A aREELME 0 PRl (Bond Stress)
u-wﬂmmﬁmm*ﬁ]- T4 ks, <u Allow= 1327 kse,  OK. RC. RIT.
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= WA TSR T L #
* BENICLLAT A2
Beam No. Bl
v iy e Insaedie W ooMmax= 4777.09 kp-m
fofmunlunmesniun . i = 210 kso, fr= 4000 ks,
Design Constant
n= Es/Be= 2040000 15210%q0 &) = &
k=l 1+ fwn*fc)= 347 j=i-d= R84
fic= 45%sgr(fch= 94.5 ksc,
R 5% = A ks,
AR YU 20 % 40 cm.
d= 33Wsem. d'= 44 eme
Mw = R®5*d%! = 3342 21 kg-m.
AST = MuFs*i*d = 6,96 AT.9L,
1. BEMULM BN 3 + M
Menax - Mw = 143488 kg-m.
* SEATUTUABNULL + M (i Doubly Reinfarced Secfion
1.1 mennuy BT udine i
A8 = [ Mmax - Mwl (BE*d-d))} = 3,03 #5970,
As = A4Sl + AL =959 AT
*+ 14 3-DB 16+ 2-DB 16 A 2unl
1.2 e e u s asa | As )
fel = {kd~d' e/ kd = 5027 koo
T2 = (+Mmax - Mw) dd-d) = 485413 ki
Ax = T2/ (201 el = 4,82 A3.9.
= 1% :-DB 16
Check : Infil = 106587 < 5 DK,
2, Wr e uIm A8 (Shearing Stress)
Vimax = IEZ1.675 kg, w= [5H0.67 kp'm
Wil = Wi - (atd) = 30254 kg
w= Vd/hd= 486 ksg, >ve= 42 kse
daalfmimlaanfuusadeud o den1$ 1 RE 6
S = Av*ietd (V'
W (v = welbd = 448,21 kg
5 - 1698am. 1£= 15 em,
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3. A9RUNLABLT ATl (Bond Stress)
u=V/ (HATAUTDU *j*d) = 507 ksc. <u Allow= 20.74 ksc. OK. RC. RIT,
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* 51n TR T *
* BEALLLAT A.0.0*
Beam No. B2
nna AT lnssade 14 sMmax= 10886 kgm.
dofmualumsesnuuy : &= 210 ks, fy = 4000 ksc.
Design Constant
n= Es/Ec= 2040000/ 15210*sqrifc’) = ©
k=14 1+ fam*fch= 347 ,j=1-ki3= 884
fo=A45* sqrifel= 94.5 ksc.
B = 0.5%fc**k =~ 14.49 kse.
SULAMTIRR YUW 20 x 30om.
de 258cem. ,d'= 4.2 cm.
M = R*prd*d = 192902 kg-m.
Asl = Mw/fs*j*d = 2.95 #3970,
1. POMULLMANIRGY + Mrmax
M - Mo = -840,42 kg-m,
* S2ATUIUABAULIT + Mmax 111 Singly Reinforced Seetion
As = Mmax / (z**d) = 298 #3.9W.
s 14 3-DB 12

manmFysunsiea 1§ 2-pB 12

2, WTWABUMUIUTATOU (Shearing Stress)
Vmax = 1979.274 kg, w= 1799.34 kg/m
W¥d = Ymax - {wd)= 1515.04 kg.
v=Vd/bd= 294 ksc. =wve= 42 ksc.
lémdnilasn RB6 S=d42= 129 cm.

3, AT29TEUHENS AT (Bond Stress)

u= Vi {HBE T UTBI %j*d) = 167 kse <u Allow= 35 ksc. OK.

RC, RIT.
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= SN TR *
* BENINUIATY A0
Beam Mo, B3
wnmT eI AT 18 +Mmax = 7266.69 kgem.
dodmuatunseanun s fo= 2ibkee | fy= 2000 ke
Design Canstant
fi= Es/BC= 40000 1521 0*sqrifc’) = 9
K=l 1+ fan*ic)= 347 j=1d3= K84
fo= 5% eqr i = 945 ke
R=05%fc*"k = 1445 koo
HUNRT R MR 20% 50 em.
d= 4315cm. ,d'= 46 cm
M = R*B*d*d = 530585 kg-m.
As] = MwifE*j*d = .84 R5.3U,
1. BB Areea + Mmax
Mmax - Mw = 187084 kg-m.
* BRI IMBBNIEIY + Mmax i Doubly Reinforeed Section
1.1 BenuUUWAnNET U Ul 3R
AsZ = (o - b B =000 = 3,03 AT B,
As = As] + As2= 1187 AT,
1§ 2-DB20+ 2-DB 20 A2 uD7
1.2 eenuuLMAnE u i aba | As' )
fal = (od-d"1*fi: / kd = 6547 ks,
T2= {+hdmax - Mw) Ad-& )= 485302 ko,
Ag= T2 [2n-1fc] = 4,36 &350,
¥ 2-pB20
Check - Infol = (17842 < fa OK.
2, ATINNE UM LT AT AN (Shearing Stress)
Venax = 5813351 kg, w = 232514 kg/m
V= Venax - (whd) = 4809.57 kg,
v= Vd/bd= 557 ksc, =wc= 42 kse
dealiminlasniuns adeud nufu Feni¥ o kB 6
= Avtiied /v
Vi=i{v-veibd= 118321 kg.
5= 2158 cm. 6= 20 cen.



3, AT IRTEUMAILT BRI (Bond Stress)

u= W (e rdl= GG ke <w Allw = 1639 kse.  OHL RC. RIT.
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= genrad o *
* GENUULATY A0+
Bazarm Mo, B4
SN HATIEN Insand e 18 +Mmax = 79598 kp-m.
fafimrunluniseenuuy : &' = 210 ksc, fy — 4000 kse.
Dresign Comstant
n = [Es Fg = 240000 152108 = 9
k=1 |+ Gm*c)= 347, j=1-kG3= 284
fe= A3 sqrifc'l = 24.5 ksc.
= 0,5* %%k = 14.49 ke
CTUAFAMUTAA YU 20 5 50 cm,
d= 4265cm. ,d'= 485 ce.
Mw = R*b*d*d = 527153 Kg-m.
Asl= WoTetjed = §.74 ATEU.
I mEmarr i aEy + Memax
Mmax - Ww = 3524.45 kg-m.
* g A THIMBBALLL + Mmax 1Ty Diably Reinforced Section
1.1 BEnEuy ne T i s sha
A2 = [ Mrmas - Mw (BE*{d-d'1'= 583 &390,
As = Asl + As? = 1457 AT
«+ 1 2-DR25+ 2-DB25 FAZ U0
I.2 BEnUULMAMOTETULT AR A As)
fol = (kd-d' i ikd= 63.53 ksc.
T2 = (+Mmax - Mw) {d-I') = 032305 ke
A = T2/ (2a=1)f] = K63 #3591
< 1§ z-pDB2S
Cheek : 2nfie] = 114356 < i OK.
2 AT MR UNEsuI ANy (Shearing Sweas)
Vinax = 6523435 Ep, w= 201343535 kg‘m
W= %Wmax - {w*d}= 561316 kg.
v= Wdibd= 6358 ks, =wo= 4.2 ksc.
dosldmaminenfunsafisudnasiu fenl¥d re s
8 = Av*Furd [V
Vo= v - velbd = 201843 kg
S = 19.02¢cm. 1= 15 am



3. AT TEUMIIN T BAM N (Bond Sress)
u= Vi HaTINEMIEUIa Hod) = 734 ke <u Allow= 1327 ke 0K RC.RIT.
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-
Hadnsssamalusug

Sudwi  aanmmn {m) a1 (ke Wi Jike) Wi Dlksc)  ¥aousaf J (kesc)

1 15000 ~4TLGEOD -4 TL.GE00 =47 1680 ~47, 1080
2 §.5000 995 T56E -005. 7568 00,5757 94,5757
3 L5000 4192657 4192657 41.9266 41.5266
4 L5000 STe.d912 ) STad912 ST.6441 576401

3 1. 500K 5764912 5764012 576491 576491

& 150000 41592657 4192657 410260 415266

7 1.5000 -B95. 7568 =005 TR L0 5757 5757
b 1.5000 ~4 716300 =41 GEAN) =7 1680 471680
9 0.7500 =1BBA6.6955 <mox-= -1886.6055 <max-> -188.6606 -1 886656
L] 1 5000 -TT.ELI3 -T07.5113 ~70.7511 -TLT511
11 22500 -157.2255 -157.2255 -15. 7225 157225
12 30000 4716713 4716113 47,1671 47,1671
13 22500 -157.2255 =157.2255 -15.7225 -15.7225
14 L. 5000 -T07.5113 ~ThT.5013 -T0.7511 -T0.Ts11
15 0.7500 ~1386.6955 <max-> - 18866955 <max-> -1ER.6696 -1 BE. 669G
16 1.6771 JIT3543 27,3543 527354 52,7354
17 La&771 1054, 6890 ~1054.6890 105468 =106 4680
18 L6771 -1 X472 -1230.4724 -123.0472 ~123.04°72
19 L6771 -1054,6909 - 10546909 10654441 1054601
0 16771 -1054.6800 =1034.6509 ~105.46591 105, 4651
21 1.6771 -1230.4724 12304724 -123.0472 -123,0472
.S 16771 -1054.6E00 -1054.6800 -105. 46809 -105,4689
n L6771 5273543 F2T7.3543 527354 537354

| o |

Drrawing : Mot to Scale
RC RIT.



* SIHAEAT I ¢
* ganuuaenfe *
Column No. C2
YUIAWET 20 x 20 cm.
P= 11290146 kg, ft'= 210 ksc , fy = 4000 kse,
g = 3m
BRT I TUATIITERA = ADWGUEN / ATUUALIE

= 15<15 iihumdy R=1.00

Ag = 4 sq.cm

TN P = 0.R5* Ag(0.256c" + fs*As/Ag)
As =2 sq.cm
1% 4-DB 12 *+=*

* {3 9T AU Pg *

Pg=-012 (001 =Pg<008) OK.

1 =
* wiszaevamantasn

v L} [ I
1¥anivenigavesdme Ui

1) 16 induerudnaamantn 19 em.
2) 48 widuriguonanamanlasn = 28 cm,

3) ATuliALLE 20 cm

*141). RB6 @ 15cm.

020m. |

0.20m.

Drawing : Not to Scale
RC RIT.

| 4-DBIi2 mm.

RC.RIT.

| 11-RB6@ 0.15 m.

93



* TURIIA T *
* PANULLE THI AL *
Footing Mo, F1
Fofmmnlumaoonuun ;= 200 kse 1Hinin SD40, fi = 2000 kse
Soil Bearing Capacity = & AW,
wABLnlaenAEIYLR 20 % 20cm.

Dhesipn Corstan
n=_Eg/Eg= MHOHQ 15210l = 4
k=11 1+ i=n*icl= 347  j=l-kd= H§&2
b= A5% wyr ()= 4.5 ke
R =0.5% et k= 14.40 ks,

MUUTINA = 17913481 kg
Dead Lond = 20 % = ISHZ6062 kg,
P= 21496 1772kg.
Arch of Footimg = 2.68 0L
MWynsinm 1.7x 1.7 m
Gz afiuiugnd - 619544 nn, AN,
1. Tuprsada v idngs Maftveuma)
M= 206363 kgom
d= [10.97 em.
treq = 1657 cm. 1§ 1~ 35.cm
d #¥4= 204 cm.
Aga-T.03 Wy,
=411 As 010 Bond Seress *
u Allow= 25 ks, V= 790301 kg
wusauguifeans - v TuAdlow *58) = 1206 cm,
As = i useuplBInT £ D - 365 ww ¢
9214 A= 713 Araw, uns ¢ 14 7-DBI12 Rameawy o=
ATIMBUITIEHM = (L - 2%5+ D))/ (numiin - 1) = 26.27 em. < 30 cm woevhan Wesnan Ok
2. AFINERUMIMEARBUUILATY (5502 4 VIREURETS)
Vb= 480503 kg,
vbh= 06020V 05= 4.2 ks  OK.
3wy avmeumimsaEsuIE Iz e A (rzes 42 Taereunedn)
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|
SERUALAL + 0.00 m, s
' | 4 "IlE!limm.# I- RES mmn.TAT81
1.00 m, e )

" s

FEUTHANIT 235

v
N s

1.70 | m.

1.70 m.

7 —DB12 mm.*

WA :
¢
auldginades finihwiinussyn

deadnldldoonn & fumsu,






